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5RERWHUJUHLIHU�ZHUGHQ�đEOLFKHUZHLVH�

DQJHWULHEHQ��'LHVH�QHKPHQ�YLHO�5DXP�LQ�

$QVSUXFK�XQG�EHQùWLJHQ�]XU�6WDELOLVLHUXQJ�

HLQ�KRKHV�(LJHQJHZLFKW��*UHLIHU�DXI�%DVLV�

HLQHU�)RUPJHGÃFKWQLVOHJLHUXQJ��)*/��

NRPPHQ�GDJHJHQ�RKQH�URWLHUHQGH�7HLOH�

XQG�DXIZHQGLJH�6HQVRULN�DXV��$XVJHVWDWWHW�

PLW�HLQHP�NUDIWVHQVLWLYHQ�0HVVVWUHLIHQ�

�)65��XQG�HLQHP�7KHUPR�(OHPHQW��ZLUG�GHU�

*UHLIHU�GXUFK�HLQHQ�)*/�'UDKW�DQJHWULHEHQ��

:LUG�GHU�'UDKW�HUKLW]W��IÃKUW�GHU�*UHLIHU�

]XVDPPHQ��.đKOW�GHU�'UDKW�DE��ZLUG�GHU�

*UHLIHU�GXUFK�HLQH�5đFNVWHOOIHGHU�ZLHGHU�

DXVHLQDQGHU�JHGUđFNW��

+LQWHUJUXQG�XQG�7HFKQRORJLH

'HU�'UDKW�ELHWHW�YLHOIÃOWLJH�

$QZHQGXQJVPùJOLFKNHLWHQ��EHQùWLJW�QXU�

0DWHULDO�]HLFKQHW�VLFK�DXćHUGHP�GXUFK�HLQH�

VHKU�KRKH�(QHUJLHGLFKWH�DXV��'HKQXQJHQ�

ELV�]X����GHU�'UDKWOÃQJH�VLQG�PùJOLFK��

ZRGXUFK�EHDFKWOLFKH�6WHOOZHJH�HUUHLFKW�

ZHUGHQ��$XIJUXQG�GHV�'XUFKPHVVHUV�YRQ�

QXU�����PP�NDQQ�GHU�'UDKW�EHUHLWV�GXUFK�

HLQHQ�JHULQJHQ�6WURP�YRQ�PD[������$�

HUKLW]W�ZHUGHQ��'LH�LQWHOOLJHQWH�5HJHOXQJ�

EDVLHUW�DXI�HLQHP�0RGHOO��GDV�GHQ�

=XVDPPHQKDQJ�]ZLVFKHQ�

/ÃQJHQDXVGHKQXQJ�XQG�JHIRUGHUWHU�.UDIW�

LQ�HLQH�GDIđU�HUIRUGHUOLFKH�'UDKWWHPSHUDWXU�

XPZDQGHOW��'LH�NDVNDGLHUWH�

5HJHOXQJVVWUXNWXU�XPIDVVW�HLQH�LQQHUH�

7HPSHUDWXUUHJHOVFKOHLIH�XQG�HLQH�

đEHUODJHUWH�5HJHOXQJ�GHU�*UHLINUDIW�

0HKUZHUW

'HU�)*/�*UHLIHU�HLJQHW�VLFK�EHVRQGHUV�

.XQVWVWRIIEDXWHLOH��'DV�VWXIHQORVH�

(LQVWHOOHQ�GHU�*UHLINUDIW��$EE�����VRZLH�GLH�

OHLFKWH�XQG�SODW]VSDUHQGH�%DXZHLVH�GHV�

*UHLIHUV��VLQG�ZHLWHUH�6WÃUNHQ�9RUWHLOH�GHV�

)*/�*UHLIHUV��0LWWHOV�]ZHL�HLQIDFKHU�6HQVR�

UHQ�XQG�HLQHU�NOHLQHQ�(OHNWURQLNEDXJUXSSH�

NDQQ�GHU�VPDUWH��NUDIWVHQVLWLYH�)*/�*UHLIHU�

NRVWHQJđQVWLJ�HLQJHVHW]W�ZHUGHQ�

)UDXQKRIHU�,QVWLWXW�IđU�
(QWZXUIVWHFKQLN�0HFKDWURQLN
,(0

=XNXQIWVPHLOH��

$QVSUHFKSDUWQHU�

'U��,QJ��&KULVWLDQ�+HQNH

FKULVWLDQ�KHQNH#LHP�IUDXQKRIHU�GH

ZZZ�LHP�IUDXQKRIHU�GH

� 9DULDEOH�(LQVWHOOXQJ�GHU�*UHLINUDIW
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